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What are the common elements between the conditions of Administrative Editing & effective

communication, select it?
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You have the phrases below- required: Choose the correct answer from the available options?

1- The first linear model of communication is said to have developed by...

b. aristotle c. lasswell d. Shannon-Weaver

a. Berlo

2- Semantic distortions and lack of planning act as barriers to communication.

a- channel, message b- sender, receiver c- semantic distortions, lack of planning | d- feedback, the sender
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4-How am | going to send this message?
a- encoding b- sender c- decoding d- channel
5-Which of the following is an example of non-verbal communication?
a- Bulletin b- Space c- Time d-b&c
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Example Scenario of Nine Communication Elements
1. Sender: " daalztl oo

2. Message: " sl Jawgll § oMatl lacdds Jol (o ole JLES Oglad aliys "
3. Channel: s ASIY! bondl / usSLall

4. Receiver: apMhall sl &iyiay el Jalidlly oladd| &yate

5. Decoding: "2025 1,91 06 ;Lo 531"

6. Context: "elall a9y dwlia”
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